. 40 .
1
(
) 0.2¢g 99. 8¢
0.25% ?
2H, + 0, —=2H,0
0.2 ¢

=0.2g/0.25% =80 g
0.2g +99.8g =100g
:100g —80g =20g.

2 NaCl  BaCl, RN.5¢g
100 g
10%  Na,SO,
BaSO,

Na, SO,
1 o (
BaCl, + Na,SO,=—=BaS0, | +2NaCl)
(1) BaSO, G

2015 8

(2) Na, SO,

?2 0.1%)

i

E

i

&

/g

- 23.3F——

1
I

0 Na:SO: A B

1

Na, SO,

BaCl, + Na,SO, ==BaS0, | +2NaCl
208 142 233 117
y x 23.3 g z
142:x=233:23.3 ¢ x=14.2 ¢
=14.2¢/10% =142¢
(3) NaCl ;
BaCl, Na,SO,

Na,SO,
z BaCl, Yo
23.3g=117 =z
23.3g=208 y
NaCl
NaCl

BaCl,
NaCl
233
233

z=11.7g;
¥ =20.8g.

=32.5g -20.8g =11.7¢
11.7g +11.7g =23.4¢g,

32.5 g +100g + 142 —23.3g =251.2¢g
=23.4g/251.2¢ x 100% =9.3% .

~

3 NaCl

/g

>
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114 b4
Mg Al
425000
. Mg. Al A.300 mL B.400 mL C.500 mL D.700 mL
1 0.2 mol AICI, 0.2 mol  AI’*
Al( OH) , 0.1 mol
N 0.1 mol
. DA’ @AIO, AD.
o N Mg. Al
( ) 2 5.1 ¢ 300 mL
A.60% B.40%  C.54% D. 1 molesL™
5.6 L, 1mol « L7
MgO MgO V mL
MgO ( 1) V ( ) o
A.300  B.400 C.500 D.600
MgO w( Al) = (2) ( ) o
w(0)=1—6x100% _40% B, A.9.35g B.12.6g C.13.6g D.15.8¢
40 (1)5.1 g Mg. Al 0.3 mol
0.2 mol AICI, H,S0, 0.3 mol
1 mol/L NaOH 7.8 ¢
H, _S.6L =0.25 mol
NaOH ( ) o 22.4 L/mol
> N AgNO, o 200 g 17%
2 2 29 g 2

TN 17. 0% Y AgNOs #VHi
200 g I, DEEIEEANT 4 1

A REK | g 1 [P 2 1 2
FER _L@%ﬁﬁﬁ vl 1+] st/ it ] 2%

12g TUE L 008 N\
NPT

2

( : AgNO, + (1) 1 .
NaCl =——AgCl | +NaNO,) (2) NaCl X
. AgNO, + NaCl==AgCl | +NaNO,
(1) 1 . 170 58.5
(2) . ( 200g x17% «
1) 170 200gx17% =58.5 «
x=11.7¢g
( 12015 - 05 -10)

in(Mg) x2 +n(Al) x3=n(H,) x2=0.5 mol.



